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mid-1950’s - mid-1960’s YHRIE R — RIS
late 1960’s - mid-1970’s I RIZEEIRS - (SR KIEXEIE R

FIH  RIBEENERDO” 7O—F (Principles and Parameters Approach)

late 1970’s - late 1980°s 53 - RiEEH (GB XE&; Government and Binding Theory)
EONOSEE:]

B SZYURN-TOTILA
early 1990’s — today TREDER (REDRFEME. REEET optimal design)

(2) EmBEE

A. FIRAIZ M Descriptive Adequacy  (I-language)

B. SR Y Explanatory Adequacy (UG)

C. 8 - FHEARIZ Y% Hyper Explanatory Adequacy (GE{LRIZ M Evolutionary Adequacy)
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MERERBEE A ZENT 2RUDEETH S
ZORAUFEEHEARGZEDLSIC—RILT BN DNELRRE
REREIE Deep Structure + FREMEE Surface Structure
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4) a. EKEBFT Base component: L ¥ Y (BF) &AEEREA phrase structure rules
b. ZHZERFT Transformational component: ZFZ#3 Al



5) a John kissed Mary.

b. Mary was kissed (by John).
(6) EEBE [S [NPJohn ] AUX [VP [V kissed ] [NP Mary ]]]
=ERBE 1 [ John kissed Mary ]]
KERBE 2: [ Mary was kissed (by John) |
(7 TEMLET
&R (SD): NP AUX V NP
1 2 3 4 =
BEZEL(SO): 4  2+beten 3 1
(8) DHEER A Phrase Structure Rules
S - NP AUX VP
VP - V NP
VP — V S (EI)EM recursiveness. BEEIFEFRME discrete infinity)
I think that you think that I think that you think that ... that John is guilty.
9 Tree diagram
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(10) BB A lexical insertion
S
T
NP AUX VP
N \'% NP
John kissed |
N
Mary

(11) Equi-NP Deletion [Al—% 3@ HlER

a. John expects to win the prize.

b. John expects [ John to win the prize ]
3
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(12)

13)

(14)

5)

(16)

a7

c. John promised Mary to win the prize.

d. John persuaded Mary to win the prize.
e. John promised Mary [ John to win the prize ]
f. John persuaded Mary [ Mary to win the prize ]

Pronominalization X% 331t
a. John thinks that he is a genius.

b. John thinks that [ John is a genius ]

Reflexivization HBIF &L
a. John respects himself.

b. [ John respects John ]
IERISEKZRTI 54 Transformations are meaning-preserving.
4 RLEIREE Generative Semantics

FHEEREIERRD, REBSEZB UEKRBED SEE. REBEZE<
ERD—EDRA1L

a. Everyone is mortal.
b. V x: X is mortal
c. Quantifier Lowering #(E 31 T
S
/\
everyone S

T
\ X AUX VP
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is |
A
mortal
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ZHORBERA & BRRUAMERNICHE->SEBBED—MRILHAAIEE

a.

b. SRAE E B AR DI

c. ERFEDERSMY - BRIER ORI E b E
d. ERSEREEZ S



(18) REEE R D SILKRLEESR - BRI AREER A
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ERRERFT
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(19) [R3E - ENEBETIL
[ D-Structure ]
[ S-Structure ]
[ Phonetic Form (PF) ] [ Logical Form (LF) ]
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